BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

1000

100

rm837 2/(410747 —4968)=0.937

BIC 444403 59 ABIC 0.000 AIogP 0.0000

I : X% 380188.56 Ax? 0.000 AlogP 0.0000 7
X Ll_; — ... = :
I ; ABIC —289594 |
i : N —289594 |

4968 ; 4968
A ' ACs

| | | | | | | | | | | | | | | | | | | | | | | | | | | | | |

10 20 30 40 50 60
60 iterations

rm837 2/(410747 4968) 0.937
E™ +~ ' +~ T - T T T T T T T T T T T T 13
2 , BIC 444403 59 ABIC 0.000 AIogP 0.0000 3
- o gE Z 380188.56 Ax* 0.000 AlogP ‘0.0000 3
= 4988 T 4968 7
2 Ace e ACg - - - - T E
50 60
Fe2 7% 338+177 km/s
rm837 BLR 7620 NLR 900 km/s
F— - - - 1 - - - - 1 - T 1 T T T 1T T T T T T T T T T 7

60 iterations

kdh1 11-0ct-2021 17:21

BIC

BLR

NLR

Fell



